(AY = T (AS)
Tez=\ = Rive systemn
=0

Yox o Ppuve system S(2)=0
5(€)=—Tr[€loge]
s(¢d ::-th. Ac log Al






s(e) = \oa D

S(Syp) X (&) + s(€s)
qua\i\s g,,g - gA® gB









> 8 -
\wos 055‘0/0{.‘- S |ud

¢" Try (Sae?

o) &+ S & Iny)
("" ° \°( o <00\ ¥ Stm® <m)

Gs 6 \0® (oo\ + s«emu

u\
& Cn® Sn O (":?,f

\07<o!
A g» = o 6-\- B4

AB"




wdd ©
a = ( s&%o)

o

_ _ ol e b (@F6) - Sine log (Swe)
=—20s l.aca»e)-zs;:o log(Sed

2
® _ _2mlb liglad)-25%81

s* 4+ 5%z -4 [@s"0 log Can®)
+ Swe  \oa ($40)
20 ‘s J

SA

S




